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Problem 2 Let n be a positive integer and let A, B be two complex nonsingular n x n matrices such that

A2B —2ABA+ BA*=0.

matrix X

Prove that the matrix AB-YA~'B — I,, is nilpotent. (Here I,, denotes the n X n identity matrix. A
[10 points|

is called nilpotent if there exists a positive integer k such that X*=0)

s %
7: Aq 4,“;/ 8 kf,)(r‘&{ f?h(,‘{

B A s
AA=L a4 BR=RTB-T Vows 'S manipale e
Qaves, C@L{-{c,h‘ ¢

Al

\dc “i‘l-{ .. A / T2 3 '
ﬂ_\\f{’h '\L"\f’lé .r\\ anegl 1S “re IL\?”S}W&‘«QWJ W G ."If"‘

il
ATB —2ABA « BAZ= 5

W¢ posd- :
po mqup/j t enfie Cheadyn éy E-;/\_jz

3 L8
A=28r25= o

leg W\Q'ﬁﬁr‘& flrf..q./-/;/j)/;'(q'{;}-v \
X ma(_;m{@é’ We (en r*e’uﬂ‘{(' '#te (J'énf(‘_’ (/‘;’ucf K«
LY

Lﬁ@ ) (QE_IAJ‘ B) = AR

o J Wé’ Cai See "Lf-\.qt
BAB- .7
L i= J "'_[__‘ =
" - ol 2,
l‘f‘&”cré /_JE//.

varod o te -
st Power bl 5 de 4
U b g

W hicl, 4 e
’I'Ma()f 43 ‘rqu-/ /{/q‘L ”‘l{bcaic.,f A r{/ Zg ; {A-v-o—)




